Hanbury

Planters

G RN T e e | GG 7S S o s e Y TR
P S . TS e BN G A

R
=™

R V=4
:‘.. 7 bl 100% Bl
S & \/

[

[ J

[
LIVING

y
/

Using the unique serial number, simply register your product at www.hexliving.co.uk
to access and download the HEX Living lifetime warranty and video assembly instructions.

Affix Serial Number

HERE

=

TV ~T =

Doc Ref: 699-0803/B



Hanbury: Assembly Guide

SECTION 1: PARTS LIST FOR 500 x 500 x 400mm PLANTER AND 600 x 600 x 400mm PLANTER.
PLEASE NOTE: PARTS MAY DIFFER VISUALLY BUT THE ASSEMBLY PROCESS IS IDENTICAL FOR BOTH PRODUCTS, ENSURE ALL ITEMS LISTED ARE
PRESENT PRIOR TO STARTING ASSEMBLY PROCEDURE.

SCALE OF ITEMS WILL VARY TO AID VISUAL IDENTIFICATION

1- FLOOR RAIL 7 - FRONT PANEL

Qty: x4 Qty: x1

2 - CORNER POST

Qty: x4
8 - SIDE / BACK PANEL
Qty: x3

3 - FLOOR HOLDER

Qty: x4
9 - FLOOR PANEL
Qty: x1

4 - FLOOR BRACE

Qty: x1

FIXING KIT

5 - FLOOR CORNER BRACKET

- Part Ref: FK1
Qty: x4 M4 x 8mm Roofing Bolt W
Qty: x32

Part Ref: FK2
M4 x 10mm Roofing Bolt W
Qty: x18

. Part Ref: FK3

6 - CORNER CAP
Qty: x4

=
M4 Serrated Flange Nut
Qty: x46 JV

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 1
LOCATE AND SECURE A FLOOR CORNER BRACKET (5) AT EACH LOCATION INDICATED.

- O\
SECURE EACH FLOOR CORNER BRACE (5) AS SHOWN ABOVE. PLEASE NOTE: TYPICAL FIXING METHOD, ENSURE CORRECT FIXING IS USED (FK2).

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 2
LOCATE AND LOOSELY ATTACH FRONT PANEL (7).

22)

LOCATE FRONT PANEL (7) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH FRONT PANEL AT EACH LOCATION INDICATED AS SHOWN.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 3
LOCATE AND LOOSELY ATTACH SIDE / BACK PANEL (8) AT LOCATION SHOWN.

J
LOCATE A SIDE / BACK PANEL (8) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH PANEL AT EACH LOCATION INDICATED AS SHOWN.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 4
LOCATE AND LOOSELY ATTACH SIDE / BACK PANEL (8) AT LOCATION SHOWN.

8 \3 v
J Y,
LOCATE SIDE / BACK PANEL (8) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH SIDE / BACK PANEL AT EACH LOCATION INDICATED ONLY, DO NOT
@ ENSURE TABS ARE LOCATED AS SHOWN BEFORE SECURING. ATTACH TABS AT THIS STAGE.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 5
LOCATE AND LOOSELY ATTACH SIDE / BACK PANEL (8) AT LOCATION SHOWN.

@ v 8 )@ )

LOCATE SIDE / BACK PANEL (8) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH SIDE / BACK PANEL AT EACH LOCATION INDICATED ONLY, DO NOT
@ ENSURE TABS ARE LOCATED AS SHOWN BEFORE SECURING. ATTACH TABS AT THIS STAGE.

HzX]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 6
LOOSELY ATTACH FRONT, SIDE / BACK PANEL TABS AT EACH LOCATION INDICATED.

.

- )
LOOSELY ATTACH FRONT, SIDE / BACK PANEL TABS AT EACH LOCATION INDICATED.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 7
LOOSELY ATTACH FRONT, SIDE / BACK PANELS AT EACH LOCATION INDICATED.

-
LOOSELY ATTACH FRONT, SIDE / BACK PANELS AT EACH LOCATION INDICATED.

J

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 8
LOOSELY ATTACH FRONT, SIDE / BACK PANELS AT EACH LOCATION INDICATED.

e e D
IMPORTANT
ADJUST ALL COMPONENTS FOR BEST POSSIBLE
FIT AND TIGHTEN ALL FASTENERS.
- - J

LOOSELY ATTACH FRONT, SIDE / BACK PANELS AT EACH LOCATION INDICATED.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 9
LOCATE AND ATTACH A CORNER POST (2) AT EACH LOCATION INDICATED.

.
@

J
o o

LOCATE EACH CORNER POST (2) AS SHOWN INSERTING TABS INTO APPROPRIATE BEND ALL CORNER POST TABS TO SECURE CORNER POSTS INTO POSITION
SLOTS AT EACH POSITION.

EEYJ 10

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 10
LOCATE AND SECURE FLOOR HOLDERS (3) AT EACH LOCATION INDICATED.

0 THESE COMPONENTS ARE TO LOCATE THE FLOOR, DETERMINE APPROPRIATE LEVEL FROM 3 OPTIONS AVAILABLE 0

S
Sy
Sy
o2 ©

DETERMINE DESIRED LEVEL FOR FLOOR FROM 3 OPTIONS AVAILABLE. SECURE EACH FLOOR HOLDER (3) USING THE TYPICAL FIXING METHOD SHOWN.
@ THIS WILL OBVIOUSLY BE DETERMINED BY WHAT WILL BE PLANTED.

EEYJ 11

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 11
LOCATE AND ATTACH FLOOR BRACE (4).

SLOT FLOOR BRACE (4) INTO FLOOR HOLDERS (3) AS SHOWN ABOVE. FLOOR BRACE IN POSITION

THEXT ’

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 12
LOCATE FLOOR PANEL (9).

\3 )
J
BEND ALL FLOOR PANEL (9) AIR BENDS DOWN INTO POSITION AS SHOWN. LOCATE AND ATTACH FLOOR PANEL (9) BY SLOTTING AIR BEND TABS INTO EACH
(D ENSURE PANEL IS IN CORRECT ORIENTATION WITH RECESS FACING DOWN. FLOOR HOLDER SLOTS.

J

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 13
LOCATE AND INSERT CORNER CAPS (6).

( ( )
IMPORTANT
ADJUST ALL COMPONENTS FOR BEST POSSIBLE
FIT AND TIGHTEN ALL FASTENERS.
ONCE ALL FASTENERS HAVE BEEN CHECKED AND ARE
SECURE THE ASSEMBLY IS COMPLETE.
g g J

LOCATE AND INSERT END CAPS (6) AT EACH CORNER POST AS SHOWN.

H=X]

LIVING




Hanbury: Assembly Guide

IMPORTANT: PLEASE BE AWARE THIS DOCUMENT IS A GUIDE TO THE RECOMMENDED ASSEMBLY SEQUENCE FOR OUR
PLANTER RANGE.

The document consists of two sections, Section 1 is for our 500 x 500 x 400mm & 600 x 600 x 400mm range and Section 2 is
for our 800 x 400 x 400mm & 1200 x 400 x 400mm range, the diagrams used in each section illustrate the recommended
assembly sequence, your Planter may have components that differ from those shown, this will not change the procedure
and any differences will be detailed at the relevant stage of assembly.

Section 1: Page 1- 14

500 x 500 x 400mm Planter 600 x 600 x 400mm Planter

Section 2: Page 15 - 28

S

800 x 400 x 400mm Planter 1200 x 400 x 400mm Planter

—_—
M =XJ ii: INTRODUCTION



Hanbury: Assembly Guide

SECTION 2: PARTS LIST FOR 800 x 400 x 400mm PLANTER AND 1200 x 400 x 400mm PLANTER.
PLEASE NOTE: PARTS MAY DIFFER VISUALLY BUT THE ASSEMBLY PROCESS IS IDENTICAL FOR BOTH PRODUCTS, ENSURE ALL ITEMS LISTED ARE
PRESENT PRIOR TO STARTING ASSEMBLY PROCEDURE.

SCALE OF ITEMS WILL VARY TO AID VISUAL IDENTIFICATION

1 - FRONT / REAR FLOOR RAIL
Qty: x2

9 - BACK PANEL
Qty: x1

10 - FRONT PANEL
Qty: x1

11 - SIDE PANEL
Qty: x2

4 - FRONT / REAR FLOOR HOLDER
Qty: x2

2 - SIDE FLOOR RAIL
Qty: x2

"

3 - CORNER POST
Qty: x4

800mm PLANTER

12 - FLOOR PANEL
Qty: x1

800mm PLANTER

1200mm PLANTER

5 - SIDE FLOOR HOLDER 1200mm PLANTER
Qty: x2

\ 34

6 - FLOOR BRACE
800mm Qty: x1

1200mm Qty: x2 FIXING KIT
Part Ref: FK1
M4 x 8mm Roofing Bolt W
7 - FLOOR CORNER BRACKET Qty: x36
Qty: x4
Part Ref: FK2
M4 x 10mm Roofing Bolt w
Qty: x18

8 - CORNER CAP

Qty: x4 .

Part Ref: FK3

=
M4 Serrated Flange Nut

Qty: x53

HzX]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 1
LOCATE AND SECURE A FLOOR CORNER BRACKET (7) AT EACH LOCATION INDICATED.

(" N

\ /\C
SECURE EACH CORNER BRACKET (7) AS SHOWN ABOVE. PLEASE NOTE: TYPICAL FIXING METHOD, ENSURE CORRECT FIXING IS USED (FK2).

HzX]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 2
LOCATE AND LOOSELY ATTACH FRONT PANEL (10).

22)

LOCATE FRONT PANEL (10) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH FRONT PANEL AT EACH LOCATION INDICATED AS SHOWN.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 3
LOCATE AND LOOSELY ATTACH BACK PANEL (9).

LOCATE BACK PANEL (9) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH BACK PANEL AT EACH LOCATION INDICATED AS SHOWN.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 4
LOCATE AND LOOSELY ATTACH SIDE PANEL (11).

LOCATE SIDE PANEL (11) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH SIDE PANEL AT EACH LOCATION INDICATED ONLY, DO NOT ATTACH
(D ENSURE TABS ARE LOCATED AS SHOWN BEFORE SECURING. TABS AT THIS STAGE.

THEX] .

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 5
LOCATE AND LOOSELY ATTACH SIDE PANEL (11).

5]

LOCATE SIDE PANEL (11) INTO FLOOR RAIL CHANNEL AS SHOWN ABOVE. LOOSELY ATTACH SIDE PANEL AT EACH LOCATION INDICATED ONLY, DO NOT ATTACH
(D ENSURE TABS ARE LOCATED AS SHOWN BEFORE SECURING. TABS AT THIS STAGE.

THEX] .

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 6
LOOSELY ATTACH FRONT, REAR AND SIDE PANEL TABS AT EACH LOCATION INDICATED.

- J
LOOSELY ATTACH FRONT, REAR AND SIDE PANEL TABS AT EACH LOCATION INDICATED.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 7
LOOSELY ATTACH FRONT, REAR AND SIDE PANELS AT EACH LOCATION INDICATED.

\ J
LOOSELY ATTACH FRONT, REAR AND SIDE PANELS AT EACH LOCATION INDICATED.




Hanbury: Assembly Guide

ASSEMBLY STAGE 8
LOOSELY ATTACH FRONT, REAR AND SIDE PANELS AT EACH LOCATION INDICATED.

r N 2
IMPORTANT
ADJUST ALL COMPONENTS FOR BEST POSSIBLE
FIT AND TIGHTEN ALL FASTENERS.
\ ) J

LOOSELY ATTACH FRONT, REAR AND SIDE PANELS AT EACH LOCATION INDICATED.

H=X]

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 9
LOCATE AND ATTACH A CORNER POST (3) AT EACH LOCATION INDICATED.

on) Q

LOCATE EACH CORNER POST (3) AS SHOWN INSERTING TABS INTO APPROPRIATE BEND ALL CORNER POST TABS TO SECURE CORNER POSTS INTO POSITION
SLOTS AT EACH POSITION.

THEXT )

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 10
LOCATE AND SECURE FLOOR HOLDERS (4 & 5) AT EACH LOCATION INDICATED.

0 THESE COMPONENTS ARE TO LOCATE THE FLOOR, DETERMINE APPROPRIATE LEVEL FROM 3 OPTIONS AVAILABLE 0

S
S
.
@ ioc)

DETERMINE DESIRED LEVEL FOR FLOOR FROM 3 OPTIONS AVAILABLE. SECURE EACH FLOOR HOLDER USING THE TYPICAL FIXING METHOD SHOWN.
(D THIS WILL OBVIOUSLY BE DETERMINED BY WHAT WILL BE PLANTED.

THEX] -

LIVING




Hanbury: Assembly Guide

ASSEMBLY STAGE 11
LOCATE AND ATTACH FLOOR BRACE (6), PLEASE NOTE FOR THE 1200mm PLANTER x2 ARE REQUIRED.

6
800mm PLANTER: x1
1200mm PLANTER: x2

SLOT FLOOR BRACE (6) INTO FLOOR HOLDERS AS SHOWN ABOVE. FLOOR BRACE IN POSITION

FEYJ 26

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 12
LOCATE FLOOR PANEL (12), PLEASE NOTE THE 1200mm FLOOR PANEL WILL HAVE x3 STRENGTHENING RECESSES.

BEND ALL FLOOR PANEL (12) AIR BENDS DOWN INTO POSITION AS SHOWN. LOCATE AND ATTACH FLOOR PANEL (12) BY SLOTTING AIR BEND TABS INTO EACH FLOOR
(D ENSURE PANEL IS IN CORRECT ORIENTATION WITH RECESS FACING DOWN. HOLDER SLOTS.

THEX] 27

LIVING



Hanbury: Assembly Guide

ASSEMBLY STAGE 13
LOCATE AND INSERT CORNER CAPS (8).

( ( N\
IMPORTANT
ADJUST ALL COMPONENTS FOR BEST POSSIBLE
FIT AND TIGHTEN ALL FASTENERS.
ONCE ALL FASTENERS HAVE BEEN CHECKED AND ARE
SECURE THE ASSEMBLY IS COMPLETE.
. \ J

LOCATE AND INSERT END CAPS (8) AT EACH CORNER POST AS SHOWN.

H=X]

LIVING







Caring for your HEX Living product

Your HEX Living productis designed to stand the test of time, which is why we’re happy to offer a lifetime warranty
on our products. With zero maintenance required, simply assemble your HEX Living product,and enjoy putting it to
great use in your garden.

Periodically, you might want to give your product a clean, these simple care tips are not essential to the performance
of your product:

® Remove surface dirt with plain water using a jet wash or sponge, the coating on our products will ensure dirt
or mud simply wipes away.

e |f you’'ve purchased a HEX Living metal storage solution, periodically clear the roof of fallen leaves.

e |f your product has guttering, remove leaves and garden debris as you would on your home.

Ensure you have registered your HEX Living product

Using the unique serial number found on the cover of this document, please visit www.hexliving.co.uk to register
your product and access the HEX Living lifetime warranty and video instructions.

AR Wl TR TR RN T VR TR D IR TR DO Gl VO "h NN AN

/?'

AF I el S S5 NN ATRMM P AT BTN RV VR AR T T;?\-\!\Q"‘[“* o 19
s — =S N T e SIS LIS T SRR |\
\AY

Al

Y s Y :
7. i

A\

EEYJ @ ﬁ www.hexliving.co.uk

LIVING



	699-0803 - 500 x 500 x 400mm Planter Assembly Guide Issue B - draft
	699-0803 - 800 x 400 x 400mm Planter Assembly Guide Issue B - SECTION 2
	Blank Page

